Question 1 (20 points)
 [image: image1]
The type of person analysis that yields in-depth answers about training needs and more clearly reveals employee feelings and attitudes is the ____.
Question 1 options:
	
	survey

	
	skill and knowledge test

	
	performance appraisal score

	
	interview


Save
Question 2 (20 points)
 [image: image2]
Which of the following is NOT an advantage of job rotation?
Question 2 options:
	
	Allows for lateral transfer

	
	Allows for greater staffing flexibility

	
	Can increase job satisfaction

	
	Expands employees' levels of responsibility


Save
Question 3 (20 points)
 [image: image3]
An advantage of holding a training session off-site is:
Question 3 options:
	
	the location can serve as a reward

	
	a reduction in training expenses

	
	that it is easier to organize the training

	
	all of these are advantages


Save
Question 4 (20 points)
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Which of the following types of needs analysis has the purpose of determining factors that either facilitate or inhibit training effectiveness?
Question 4 options:
	
	Organizational

	
	Demographic

	
	Task

	
	Person
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Question 5 (20 points)
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According to research by Eden (1998), training supervisors to use the Pygmalion Leadership Style:
Question 5 options:
	
	increases employee self-esteem

	
	does not increase subordinate self-esteem

	
	has had mixed results

	
	will save an organization money
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Question 6 (20 points)
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An internal force that drives a worker to perform well is:
Question 6 options:
	
	job satisfaction

	
	ego needs

	
	safety needs

	
	motivation
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Question 7 (20 points)
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It is important to limit the number of behaviors being modeled so the employee can:
Question 7 options:
	
	pay attention

	
	retain the information

	
	reproduce the behavior

	
	model the behavior for others


Save
Question 8 (20 points)
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If an employee feels she is underpaid for the effort she exerts, she will probably:
Question 8 options:
	
	work harder

	
	not change her effort

	
	reduce her effort

	
	feel guilty
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Question 9 (20 points)
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The president of Peso Bank tries to motivate employees by giving them $1,000 every time he notices them providing excellent customer service. The problem is that the president is never in the branch offices. According to the ____ component of expectancy theory, this plan will not motivate employees.
Question 9 options:
	
	equity

	
	expectancy

	
	instrumentality

	
	valence


Save
Question 10 (20 points)
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An employer will give $3 each month to every employee with perfect attendance. According to the ____ component of expectancy theory, this plan will not motivate employees.
Question 10 options:
	
	equity

	
	expectancy

	
	instrumentality

	
	valence
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Question 11 (20 points)
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____ exercises allow the trainee to work with equipment and in an environment like that found in the actual job.
Question 11 options:
	
	Case study

	
	Simulation

	
	Programmed instruction

	
	Critical incident


Save
Question 12 (20 points)
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During a training session, breaks should be given approximately every:
Question 12 options:
	
	30 minutes

	
	60 minutes

	
	2 hours

	
	4 hours


Save
Question 13 (20 points)
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For two days prior to "opening," employees in a Food and Beverage Department actually take orders, prepare food, serve meals, and compute check totals for other employees posing as tourists. These exercises allow the staff members to work in an environment that closely resembles the actual work environment. These exercises are referred to as:
Question 13 options:
	
	apprentice training

	
	simulations

	
	behavior modeling

	
	role playing


Save
Question 14 (20 points)
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Which of the following will NOT contribute to effective transfer of training?
Question 14 options:
	
	Overlearning

	
	Feedback

	
	Incentives

	
	Massed practice


Save
Question 15 (20 points)
 [image: image15]
____ plans are also called earnings-at-risk plans.
Question 15 options:
	
	Pay-for-performance

	
	Merit pay

	
	Stock options

	
	Profit sharing


Save
Question 16 (20 points)
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A Solomon Four Groups Design attempts to do all of the following except:
Question 16 options:
	
	control for the effects of outside factors

	
	control for the effects of pretesting

	
	control for the effects related to time

	
	be more practical than other designs
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Question 17 (20 points)
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____ incentive plans often result in social loafing.
Question 17 options:
	
	Individual

	
	Group

	
	Both individual and group

	
	Neither individual nor group
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Question 18 (20 points)
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Feedback is most effective when it focuses on an employee's ____ and the supervisor explains how the behavior impacts ____.
Question 18 options:
	
	behavior / others

	
	personality / the employee

	
	behavior / the employee

	
	personality / others


Save
Question 19 (20 points)
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____ determines whether a person can do the job properly and ____ determines whether that person will do it properly.
Question 19 options:
	
	Satisfaction / motivation

	
	Ability / satisfaction

	
	Ability / motivation

	
	Motivation / satisfaction


Save
Question 20 (20 points)
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Including a(n) ____ in the research design allows a researcher to look more closely at the effects of ____.
Question 20 options:
	
	control group / outside factors

	
	experimental group / outside factors

	
	control group / training program

	
	experimental group / training program
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